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2013-2014 *FAELEPEACE T (H) WK

ERREN: Gt FH 120 2

N (10 ﬁj\) @%ET T:R*— R? £ T($17x27$3) = (2951 + 312 — X3, 71 +$3) iE X

(1) kB T & Zephmet).
(2) 4 T 3T R® Al R? (bR AR BEFOR.
(3) i T k% ker(T) 1H)—2H 5.

 (103) BV ={f:R—=R[f A}, MV 2H5ETH SIS 58 5 K

G
() & V _EimEAgeRizE, 8V SOy, HE5H V P E.
(2) ia S = {flva’fii}) ;H\:EF‘

fi(z) = x; fa(z) = sinz; f3(x) = e, Vo € R.

UEH S 2 VTR TR

A (10 6}) ﬁ ( ) ) %5’2%‘@?@ |4 E]/‘Jlj‘] H) B = {U15U27 s 7Un} 7»% v H/‘J#é_ﬁ%{jﬂzﬁ

H.
(1) WEH: SHEREH 2,y €V, H (2,) = 3 (@ 0) (4, 0).

=1
@) B x= (1) fly= évi etz 0, K cosf, FA5H « Fil y BAHEL.

i=1

. (10 43) a1, a0, 8,81, B B2 4 HESLEESSE R OB E, B 4 it

|(04170427043751)| =dy, |(62, 043,042,041)| = ds. *FE 4 mﬁ@ﬂ/ﬂﬁ‘ﬂfﬁ-
(1) A= (3041 — 100&2, 70&2,0&3,ﬁ1).
(2) B = (561 + 652,0&1,0&2,053).

(10 9y) BUEF b on dESEaS ) VO RAER [ BASR AMEGT T 0V — VBRHIE ]

o

(1) EW] T RECRWSS, BT A € F, (BRTAE v e V, 4 T(w) = v,
(2) % T WFAIEE (T HEE = dim(ker(7))).

0 -1 -1
(1043) 4 A=11 1 0 |, HEEZTL FO) =X+ 1 +2.

1 = Y
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(1) 3K = firy WMA.
(2) #7RF A BAESEA:, A 2&nIXAai? fa?
(3) #7F A BFEMEN, A BEAIXHAE? A2

. (10 4)) % A F1 B 4512 mox n Ffl nox m 5.

(1) B X #0. UEH] A 22 m x m 3 AB WFHIEEYS HALY X 2 nxn 3% BA W)
RHE(A.

(2) UEW] I, — AB @R AR Y HALY 1, — BA @VEE (L, & m B s,
I 2 n Br A RE).

(10 ﬁ) ﬁi:ﬁ(ﬂ f(xth;xS) = 21'% + .T% - 4%1%2 — 4;.’E2.’L’3.

(1) SRIFFRHAFE A,  f(21, 22, 23) = (21, T2, 23) A(T1, T2, 3) .
(2) R P, f PTAP 2 A W& TS,
(3) g5 f PYIEHERRERI IR e, IR f BB IEEEUUE.

(20 9y) P R RIGEEEDY. A E R B, 43— ANRIEIENT e A, 26

— AR RGBT
(1) 3 F LA n B n] 38605 FERTH B SE 62 n B E4s ) M, (F) (17450
(2) XIFRHFE: A MOFERERIFE A 2 SRR .
(3) W A2 mxn B, L, & m BnibE, B = (All,) 2 A W3 40, W B
ik r(B) = m.
(4) # dim(V) = n,dim(W) =m, H n <m, WEELHBS TV — W #oAR0]
B A2 WA





